E}-ﬁé}/’gl f(x)E X‘f‘liq'?__ ‘II\F_' () L]'MZ]%RO]E}—I’-?—;}EH,
-3

xf(x) =32 x+ 1% Uhe 2 U427
@® xQ(x),-R-3 @ xQ(x),-R+3
® xQ(x),-R-6 @xQ(x)—}—R, -R-3

® xQ(x) +R,-R+3

B

£(9) = (x+1)0(x) + R

s xf(x) = x(x+ 1)0(x) + xR

coxf(x) =3 =x(x+1)Q(x) + xR —
= (x+1) {x0(x) +(x+1)R R-3
=(x+1){xQ(x) +R} -R-3




HE IH Y AGHE, AIAQ EFCD= | R
ARl AD = a, AB = b A, A4

GBFH 9] §o]&? G—H
B—

® a2 - 2ab - b? @ a® + 3b* - 2ab

(@)—a2 + 3ab — 2b> @ -a? + 3ab - b>

® -a* + 2ab - b*

oGBFH = oABCD — oAGHE — oEFCD
=ab - (a-b)?-b? =ab - (a* - 2ab + b*) — b?
= —a® + 3ab — 2b>




3. oA f(x)E 222 +3x+ 22 YREY 5ol 3x—40]a, L7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




ohe el AT AP HE
o] Ut A1 Al AZfstA S ), 2
go] A%E?

® -2 @ -1 ® 0 (@)1

_-THY-L 3y,

(x+4y)(3x) - (x +y)(x - y)
=3x% + 12xy — x2 +y?
= 2x2 + 12xy + y?




S oatA A B Hste] A+ B=-x3-2x2+4x+5,2A-B =
4t —x? —x+1 4 o, 7 o34 A, B E F5HH?

D A=x34+x>+x+2, B=-2x3-3x2+3x+3
@A:x3—x2+x+2, B=-2x>-x>+3x+3
@ A=x3-x2+x-2 B=-2x3-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3

® A=3x>-3x24+3x+6, B=-4x>+ x>+ x-1

B ~
A+B=-x3-2x2+4x+5---Q
2A-B=4x>-x>-x+1---©

OD+O)+3: A=x>-x2+x+2

(2090-0©)+3: B=-2x3-x2+3x+3




6.  APRFA] 3x% - 52
— +4x - 7L o|xA] o]
U2 7} 4x - 5L wf, o] x}A] ]:; ;f‘;‘t—r B

@ 3x2-2
@ 3x% -
x“—1 ® 3x2

®)3x?
+1 ® 3x*+2




7. x+y+z=1Lxy+yz+zx=2xz=34 M, (x+1)(y+1)(z+1)
of ke Fatoler,

> E.

> ®™e: 7

x+D+1(+1)
=xyz+xy+yzt+tzx+x+y+z+1
=7




FoOFA Q+x+x2 4233, 1+x+ 22+ 23 +x4)3 9 PO ALE
7y 7%

4 ,ba'd'[m a— b-/] ‘71;1\'—9(7

® 458 @ 53 ®o
@1 ® -1

B ~
F oo 14 x4+ x2+x3 & XL QIO B = |4 x+x2+x° =
At oW

(14 x+x2 4+ x3 + x4)3

=(A+x)°

= A3 + 3A2x* 4 3Ax8 + x!2

= A% + (3A% + 3Ax* + x8)x?

o] o (342 + 3Ax* + x®)xt 2 X3S E3st
T oA 9 3 o] AleE Er

“a-b=0

olr

O](l-["

&
%0
R
5o
|o
|0
il




9.

W 4x-1=0%A 0, 2 - 5x 9 g FEHA?

@ 2 @1 3 0 @ -1

B

O -5x B2 +x-12 UFH
= x5—5x=(x2+x—1)>< =3
¥ +x-1=0
X0 —5x=-3

~&B

Th5T o] A9] A4 B3 U 4 Qo
¥ =-x+1
x® —5x = (%)% x x - 5x

= x(-x+1)?-5x

=x3—2x% —4x
=x(-x+1)=2(-x+1) - 4x
=-x?-x-2

=—(x>+x) -2
=-1-2=-3




10.

2005 x 2004 4+ 1

20053 + 1

> E.

> =eHl 2006

o ke Fatola,




11.

A7y o) Al W] Bol a, b, cofl HHokel (a+b-c)a-b+c) =
blb+20) + (c +a) e - a)7F HAT W, o] 4P L ol 421
72

@A7a7d @ olsuddd 0 FaAd
@ e O =4En9

(a+b-c)la—b+c)=bb+2c)+ (c+a)(c—a)lA
{a+ —c}{a— —c}=b2+2bc+c’2—a2

a’ - (b-c)? = -a® +b%+ 2 + 2bc

2a% = 2b% + 2c2

= b2 4 2

WA, o] A7hge Wwe] Zol7t aQ) A7zt golet,




1
12. P2+x+1=0¢Y EH,x?’—i-x—sgq 27

Do @1 @2 @ 3

B




13. a+b+c=7a>+b>+c? =21, abc =84 W, a®b? + b>c? + 2a?
o] 27

@ 26 @ 48 @84 @ 96 ® 112

~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)

49 = 21 + 2(ab + bc + ca)

" ab+bc+ca=14

a’b® + b%c? + c?a® = (ab + bc + ca)? - 2abc(a+ b + )
= (14)2 -2(8 x 7)

=384




14.

287 mape] 427t 9)
Zo]o] ghe 36ole}. of AAke] thzpAe] ol

® Va2

Al 2429 Aol S a, b, c2F S
2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
59 2] o))
Y

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52 = V29




15. a+b=4,a*+b* =102 0, ¢® + b° 9] Zk& F5toleh

> E

> Heh: 244

~&B

at+b=4,a>+b*>=10
ab = %{(a+b)2—(a2+b2)}:3
a®+b® = (a+b)® - 3ab(a +b) = 28
La®+ b = (a® + b%)(a® + b?) — a’b?*(a + b)
=28x10-9x4
=244




